## कार्यालय, कार्यपालन अभियंता जिला निर्माण समिति, जिला बलरामपुर—रामानुजगंज (छ0ग0) अल्पकालीन निविदा द्वितीय आमंत्रण सूचना

निविदा ज्ञाप.क्रं. / 02 / जि.नि.स. / 2017-18

बलरामपुर, दिनांक 04.10.2017

छत्तीसगढ़ के राज्यपाल की ओर से प्रपत्र "ए" पर निविदा आमंत्रण तिथि तक समस्त संशोधन सहित ( दिनांक 01.07.2015 से लागू एस.ओ.आर. ) छत्तीसगढ़ के उपयुक्त श्रेणी में पंजीकृत ठेकेदारों को निम्नलिखित कार्य हेतु दो लिफाफा पद्धित के अनुरूप मुंहर बंद निविदायें स्पीड पोस्ट सर्विस द्वारा दिनांक 16.10.2017 को सायं 5.30 बजे तक अधोहस्ताक्षरकर्ता के कार्यालय में प्राप्त की जायेगी। निविदा दिनांक 17.10.2017 को सुबह 11.30 बजे या अवकाश होने की स्थिति में अगले कार्यालयीन दिवस में उपस्थित ठेकेदारों के समक्ष खोली जावेगी।

निविदा अधोहस्ताक्षरकर्ता के कार्यालय में आवेदन पत्र के साथ ठेकेदारों को उपयुक्त प्रपत्र में बैंक सालवेंसी जो 12 माह से पुरानी न हो, जी.एस.टी. पंजीयन आयकर एवं वाणिज्यकर समाशोधन चुकता प्रमाण पत्र वर्ष 2016—17 आदि के साथ नगद भुगतान कर दिनांक 11.10.2017 तक तथा इसके पूर्व कार्यालयीन समय पर प्राप्त किया जा सकता हैं।

इस कार्य हेतु – निविदा प्रपत्र का मूल्य रूपये 750/– अमानत राशि रूपये 63465/– बैक साल्वेंसी रूपये 1269300/– कार्य पूर्ण करने की अवधि कार्यादेश जारी होने के तिथि से 2 माह (वर्षा ऋतु सहित) एवं सक्षम ठेकेदार – एकल पंजीयन की श्रेणी अ से द तक विद्युत कार्य सहित।

क्र0	कार्य का नाम	कार्य की अनुमानित राशि ( लाख में )
1	2	3
1	जिंला मुख्यालय बलरामपुर में हाई स्कूल से सेमरी चौक (न्यू कलेक्ट्रेट) एवं थाना चौक से सब्जी मण्डी तक विद्युतीकरण (स्ट्रीट लाईट) लगाने हेतु।	84.62

शर्ते एवं जानकारियां :-

1. अमानत राशि का समायोजन नहीं किया जावेगा, अमानत राशि किसी भी राष्ट्रीयकृत बैंक का होना अनिवार्य है, जो निविदा जारी होने की तिथि से मान्य किया जायेगा।

2. निविदा प्रपत्र के लिये आवेदन पत्र के साथ ठेकेदार का जीवित पंजीयन, समान प्रकृति के शासकीय / अर्धशासकीय कार्यों का अनुभव, आयकर चुकता प्रमाण पत्र, जी.एस.टी. का पंजीयन तथा वाणिज्य कर समाशोधन चुकता प्रमाण पत्र वर्ष 2016—17, बैंक साल्वेंसी, श्रमिक पंजीयन की प्रमाणित छायाप्रति संलग्न होना अनिवार्य है एवं मूल प्रमाण पत्रों से मिलान करावें अपूर्ण दस्तावेजों के कारण आवेदन पत्र को निविदा प्रपत्र के लिये मान्य

3. उपरोक्त कार्य निर्धारित समय सीमा में पूर्ण करना होगा एवं समानुपातिक प्रगति देना होगा अन्यथा कार्य को उनके व्यय एवं जोखिम पर बिना समय दिये समाप्त कर दिया जायेगा।

4. अन्य जानकारी कार्यालयीन दिवस में कार्यालय से प्राप्त की जा सकती है।

5. निविदा तिथि से किसी भी दिन अवकाश होने पर अगली तिथि को कार्यवाही की जायेगी।

6. समस्त् देयकों का भुगतान जिला निर्माण समिति बलरामपुर के द्वारा किया जावेगा।

7. कार्य से संबंधित विस्तृत विवरण एवं निविदा शर्तें वेबसाइट www.balrampur.gov.in पर देखी जा सकती है।

सदस्य जिला निर्माण समिति बलरामपुर कार्यपालन अभियंता

लोक निर्माण विसाग (वि./यां.) संभाग अम्बिकापुर (छत्तीसगढ़)

NIT Jila Nirman Samiti Balrampur

## COLLECTOR (ZILA NIRMAN SAMITEE) BALRAMPUR (C.G.) DISTT. - BALRAMPUR

## NIT SCHEDULE FOR PROVIDING ELECTRIFICATION WORK AT HIGH SCHOOL SEMRI CHOWK COLLECTORATE ROAD & TAHSHIL ROAD SABJI MARKET

PAC Rs. 84.62 Lacs

S.No.	SOR.		_	-	TAC RS.	. 84.62 Lacs
J. 110.	Item No. & Page	2 conputer of frem	Qty.	Unit	Rate	Amount
1	(Item No	Supplying and laying following sizes additional one	e			
	17.2.23	number, PVC insulated/ XLPE, PVC sheathed, stee	1			
	page No.	Tomaster perior cubic of 1.	1			
	105)	KV grade direct in ground as in the same trench in	1			
		one tier horizontal formation including excavation	,			
		sand cushioning, protective covering and refilling the trench etc as required.4 x 16 sq. mm.	2			
		High School to semri chowk Collectorate road Tashil Road to Sabji Market	3800			
			1600	26		
2	(Item No.	Supplying and laying HDPE pipe of 4kg/sqcm ir	5400	Metre	231.00	1247400.00
	16.2.1	ground below road, path etc at a depth not less than	1			
	page No.	40 cm and upto 90 cm including excavation.	1			
	94)	dismantling of road if required and refilling the				
		trench with excavated material, ramming and making				
		the surface good etc. as required.63 mm outer dia				
		High School to semri chowk Collectorate road	3500			
		Tashil Road to Sabji Market	1300			
		Total		Metre	140.00	(72000 00
3	(Item No.	Supplying, fixing and cramping suitable size and all	1000	IVICUIC	140.00	672000.00
	17.28.3	type aluminium ferule/ lugs to following size 1.1 KV				
	page No.	grade power cable core / lead, pressed with high				
	117)	pressure cramping tool including connection to				
		switch gear/ MCCB etc as required.16 sq. mm				
		High School to semri chowk Collectorate road	950			
		Tashil Road to Sabji Market	240			
		Total	1190	Each	13.00	15470.00
4	(Item No.	Supplying and drawing following sizes of FR PVC				
1	5.11.1	insulated copper conductor, single core cable in the				
	page No.	existing surface/ concealed, steel/ PVC conduit/ PVC				
	31)	casing caping as required.1 x 1.5 sq. mm				
		High School to semri chowk Collectorate road	2000			
		Tashil Road to Sabji Market	600			
5	(Item No	Providing and fiving 6 SWC 4:- C.L.:	2600	Metre	22.00	57200.00
	14.19	Providing and fixing 6 SWG dia G.I. wire on surface				
	page No.	or in recess for loop earthing along with existing				
	88)	surface/ concealed conduit/ submain wiring/ cable as required.				
		High School to semri chowk Collectorate road	2206			
		Tashil Road to Sabji Market	3300			
			1100	Matur	20.50	00000
		Total	4400	Metre	20.50	90200.00



S.No.	SOR.					
	Item No. & Page	Description of Item	Qty.	Unit	Rate	Amount
6	(Item No.	Supplying and fixing water tight terminal box made				
	21.16.2	of 1.6mm thick M.S. sheet with detachable gland				
	page No.	i series open dole cover, rubber				
	142)	gasket, having 1 Nos 4way connector and 1 No		40		
		SPMCB inside the box for cable connection, fixed to				
		pole with 2 Nos clamp made from 40x3mm M.S. flat				
		with 2 No nut bolt dully painted with 2 coat of red				
		oxide paint and 2 coat aluminium paint complete as				
		required. 30x20x15 cms.				
		High School to semri chowk Collectorate road	98			
		Tashil Road to Sabji Market	29			
7	(Item No.	Erection of GI octogonal/ tubular pole on existing	127	Each	765.00	97155.00
	21.11.7	cement concrete foundation having grouted bolts and				
	A CONTRACTOR OF THE PROPERTY OF THE PARTY OF	nuts, aligning in true vertical position as required.				
	142)	9 metre high				
		High School to semri chowk Collectorate road Tashil Road to Sabji Market	98			
		THE STATE OF THE S	29			
8	(Item No	Total  Designing and providing suitable RCC foundation in	127	Each	890.00	113030.00
	21.12	Cement Concrete 1:2:4 (1 cement: 2 coarse sand: 4				
1		graded stone aggregate 20 mm nominal size) for 3				
	142)	mere to 12 metre high GI octagonal pole including				
		steel reinforcement (minimum 90kg per cum), form				
		work, embeding 2 nos 50mm dia PVC pipe for cable				
		entry in each foundation, excavation disposal of				
		surplus soil and curing etc. as required.				
		High School to semri chowk Collectorate road	98			
		Tashil Road to Sabji Market	29			
		Total	127	Ollina	1006.00	(220,62.00
9	(Item No.	Supplying, installation, testing and commissioning of	127	cum	4906.00	623062.00
	8.30.6	following 230/250 volts LED street light fitting with				
	page No.	all accessories like driver, heat sink made of die cast				
	45)	aluminium with IP 66 protection and 5 KV surge				
		protection on pole bracket complete as required and				
	1	furnishing 2 Yrs Guarantee certificate from				
	1	nanufacturer. 135 watt				
	]	High School to semri chowk Collectorate road	98			
		Tashil Road to Sabji Market	29			
10		Total	127	Each	22823.00	2898521.00
10	(Item No. S	Supplying and fixing SP MCB, 240 volts, 'B' curve,				2070321.00
	11.10.1  s	suitable for lighting and other loads in the existing				
	page No.	MCB DB complete with connections, testing and				
	71) c	commissioning etc. as required.6 amps to 32 amps				
	I	High School to semri chowk Collectorate road	98			
	7	Fashil Road to Sabji Market	29			
		Total	127	Each	154.00	19558.00

Powerle

S.No.	SOR. Item No. & Page	Description of Item	Qty.	Unit	Rate	Amount
11		Supplying and laying following size medium class G.I. pipe in ground below road, path etc at a depth not less than 40 cm and upto 90 cm including excavation, dismantling of road if required and refilling the trench with excavated material, ramming and making the surface good etc. as required.50 mm internal dia		6,1		
		High School to semri chowk Collectorate road	100			
1		Tashil Road to Sabji Market	30			
10	(II N	Total	130	Metre	367.00	47710.00
12	(Item No. 9.12.2 page No. 54)	Providing and fixing metal clad, TP&N double break fuse switch unit (HRC), 415/500 volts, with H.R.C. fuses including drilling holes on the board, connections, earthing the body etc. as required. (Thimbeling shall be paid separately).100 amps				
		High School to semri chowk Collectorate road	3			
		Tashil Road to Sabji Market	1			
13	21.9.3 page No. 141) (Item No. 21.8.1 page No. 141)	Supply and fixing following street light pole bracket on existing pole made out of 50 mm dia MS "B" class pipe welded to 300 mm long MS pole canopy of suitable dia at a angle of 102.50 including having MS triangular stiffner of size 150 X 50 X 5 mm thick, making arrangement for tightening the bracket with pole by providing suitable size heavy duty nuts and bolts in canopy, painting with one coat of approved steel primer etc. as required. Single Over Hang 1.50 metre Long  High School to semri chowk Collectorate road  Tashil Road to Sabji Market  Total  Supply of hot dipped galvanized (in single dip to average 70 micron) octoganal pole made of 3mm thick steel plate having base plate 310x310x16mm, window and flush cover with locking arrangement at suitable height from base for cable termination block, pole suitably reinforced with welded steel section at window cut section to make the strength of pole unaffected, including template and	98 29 127	Each	1191.00	151257.00
1		anchor plate 270x270x3mm with 4 nos 20mm dia 750mm long foundation bolts (EN8 grade). 10 metre high, minimum dia 200mm at bottom and 100mm at top  High School to semri chowk Collectorate road  Tashil Road to Sabji Market	98			
		Total	127	Each	18306.00	2324862.00
15	page No.	Earthing with copper earth plate 600 mm X 600 mm X 3 mm thick including accessories, and providing masonry enclosure with cover plate having locking arrangement and watering pipe, with charcoal and salt as required.				-02.002.00
		High School to semri chowk Collectorate road	6			
	TO SECURE A PROPERTY OF THE PARTY OF THE PAR	High School to semri chowk Collectorate road Tashil Road to Sabji Market	6 2			

Posto

	SOR. Item N & Page	Description of Item	Qty.	Uni	it Rat	
16	(Item No. 14.10 page No. 88)	Providing and fixing 4.00 mm dia copper wire on surface or in recess for loop contains				e Amou
	00)	III-L C 1				
		High School to semri chowk Collectorate road	90			
		Tashil Road to Sabji Market	30			
17	(Item No	Total	120	Metre	76.00	S. Contraction
		Earth work in all type soil except soft rock / hard rock with all lead and 1.5 metre lift, dressing, stacking excavated strata including refilling of excavated soil in trench / pit to ground level complete as required.  High School to semri chowk Collectorate road			70.00	9120.00
		Tasiii Road to Sabii Market	33.6			
			11.2			
18 (		FOR FEEDER PILLER ARRANGEMENT Providing and fixing metal clad, TP&N switch fuse	44.8	cum	163.00	7302.40
		wireble fuses including drilling holes on the board, connections, earthing the body etc. as required. Thimbeling shall be paid separately). 100 amps				
19 (It		nd base unit on wooden board in the carrier	4	Each	3306.00	13224.00
pa		oles on the board, screws, connections etc. as equired. (Thimbeling shall be paid separately). 100				
0 (Ite	em No. P	roviding and fixing bolted connection type	4 E	Each	275.00	1100.00
0	.13.3	Howing HPC c			=75.00	1100.00
1 /	THE RESERVE OF THE RE	pacity in existing SFU/ FSU including bolts and its etc. as required. 100 amps				
pag	55) ni	its etc. as required. 100 amps		ach	120.00	
pag pag	55) ni em No. St 2.33 sh	I CAISTING OF I TOOL I.	2 E	ach	120.00	1440.00
pag pag	m No. Su 2.33 sh ge No. sp	pplying and erection DANGER BOARD made MS eet duly painted and maked as per IE rules and ecification.				
pag pag	m No. Su 2.33 sh ge No. sp	pplying and erection DANGER BOARD made MS  eet duly painted and maked.	Ea	ch	56.50	226.00 8462721.40

Sub Engineer P.W.D. (E/m) Sub Dn. Ambikapur

Sub Divisional Officer P.W.D. (E/m) Sub Dn. Balrampur (C.G.)

Executive Engineer Zila Nirman Samiti P.W.D. (E/m) Division Nodel Officer Ambikapur (C.G.)

## LIST OF APPROVED MATERIAL

1.	Octagonal Pole	:-	I.S.I.	Certified with standard guage & Specifications.
2.	Cable	:-	A.	Havell's
			B.	Polycab
			C.	V. Guard
			D.	Finolex
3.	Main Switch	:-	A.	Standerd
			В.	L&T
			C.	Havell's
			D.	HPL
4.	<u>MCB</u>	:-	A.	HPL

Street Light Fitting LED :-5.

Arkaylite A. Bajaj

Havell's

B.

C.

B. Havell's

C. Mosslight

Note:-

All Other Items to be used should be as per specifications of C.G. P.W.D.

P.W.D. (E/M) Division Ambikapur (C.G.)